

THE PROPERTIES OF A POLARIZATION INDEX FOR BOUNDED EXPONENTIAL DISTRIBUTIONS

Poliana STEFĂNESCU, S.C. STEFĂNESCU*

În literatura de specialitate sunt definiți mai mulți coeficienți destinați stabilirii nivelului de polarizare a veniturilor unei populații P . Indicatorul $\Delta_(f)$ ce a fost propus în [14], [15] calculează diferența dintre "polii" a două grupări din P , grupări delimitate în raport cu densitatea de repartiție $f(x)$ a veniturilor indivizilor populației P . În [15] s-a determinat expresia coeficientului $\Delta_*(f)$ pentru densități de repartiție $f(x)$ de tip exponențial $\text{Exp}(\theta, a, b)$ cu suport $[a, b]$ marginit. Remarcăm faptul ca valoarea indicatorului $\Delta_*(f)$ depinde numai de un singur parametru, anume $\lambda = \theta(b-a)$.*

Prezentul articol stabilește în cazul repartiției $\text{Exp}(\theta, a, b)$ limitele de variație ale coeficientului $\Delta_(f)$ evidențiindu-se totodata și alte proprietăți ale indicatorului de polarizare analizat.*

In the literature are presented different coefficients to measure the polarization level of the income for the individuals from a given population P . The polarization index $\Delta_(f)$ proposed in [14], [15] computes the difference between the poles of two disjoint groups which are determined by the probability density function $f(x)$ of the income values of P . The paper [15] gives the expression of the coefficient $\Delta_*(f)$ for exponential $\text{Exp}(\theta, a, b)$ distributions having the support $[a, b]$. In this case the index $\Delta_*(f)$ depends on a single parameter, that is $\lambda = \theta(b-a)$.*

Considering an $\text{Exp}(\theta, a, b)$ distribution, in the present work are suggested bounds for the coefficient $\Delta_(f)$ and are also emphasized different other properties of this polarization index.*

Key words : *measuring the inequality, polarization index, exponential distribution with bounded support.*

MSC2000 : primary 62P25 ; secondary 62P20, 91B14, 91D99 .

Introduction

*Professor, Faculty of Sociology and Social Work, University of Bucharest; Professor, Department of Probability, Statistics and Operations Research, Faculty of Mathematics and Informatics, University of Bucharest, ROMANIA

A lot of social studies analyses the concentration and also the polarization phenomena. The Gini index is the most known coefficient for measuring the concentration aspect. The literature mentions many other polarization indices based on the income distribution of the individuals from a given population P (see especially [2]-[9], [16]-[18]).

We proposed in [14]-[15] a polarization coefficient $\Delta(f)$ which takes into consideration the probability density function (p.d.f.) $f(x)$, $a \leq x \leq b$, of the income variable X .

More precisely, the suggested index $\Delta(f)$ measures the difference between the "poles" of two disjointed sets $I_1 = \{x \mid a \leq x \leq \mu\}$ and $I_2 = \{x \mid \mu < x \leq b\}$, the separation threshold between these sets being just the mean μ of the random variable (r.v.) X ,

$$\mu = \text{Mean}(X) = \int_a^b x f(x) dx \quad (1)$$

The polarization measure $\Delta(f)$ is defined by the expression ([14], [15])

$$\Delta(f) = \frac{4p(1-p)(\mu_2 - \mu_1)}{b-a} \quad (2)$$

where

$$\begin{aligned} p &= \text{Pr}(X \leq \mu) = \int_a^\mu f(x) dx \\ \mu_1 &= \text{Mean}(X \mid I_1) = \int_a^\mu \frac{xf(x)}{p} dx \\ \mu_2 &= \text{Mean}(X \mid I_2) = \int_\mu^b \frac{xf(x)}{1-p} dx \end{aligned} \quad (3)$$

We intend to emphasize some properties of the polarization index $\Delta(f)$ where $f(x; \theta, a, b)$ is the p.d.f. of an $\text{Exp}(\theta, a, b)$ exponential distribution with a finite support $[a, b]$. More exactly

$$f(x; \theta, a, b) = \frac{\theta e^{\theta x}}{e^{\theta b} - e^{\theta a}} \quad , \quad a \leq x \leq b \quad , \quad \theta \in R, \theta \neq 0 \quad (4)$$

In the subsequent we'll use the following notations

$$\begin{aligned}
g(y; \lambda) &= \frac{\lambda e^{\lambda y}}{e^\lambda - 1} , \quad 0 \leq y \leq 1 \\
G(y; \lambda) &= \int_0^y g(t; \lambda) dt = \frac{e^{\lambda y} - 1}{e^\lambda - 1} , \quad 0 \leq y \leq 1 \\
G_1(y; \lambda) &= \int_0^y t g(t; \lambda) dt = \frac{y e^{\lambda y}}{e^\lambda - 1} - \frac{e^{\lambda y} - 1}{\lambda(e^\lambda - 1)} , \quad 0 \leq y \leq 1 \\
\nu &= G_1(1; \lambda) = \frac{e^\lambda}{e^\lambda - 1} - \frac{1}{\lambda} \tag{5}
\end{aligned}$$

Proposition 1 ([15]). If $f(x; \theta, a, b)$ is an exponential type p.d.f. (formula (4)), $\lambda = (b - a)\theta$ and ν has the expression (5) then the polarization index $\Delta(f)$ has the expression

$$\Delta_*(\lambda) = \Delta(f) = 4(\nu G(\nu; \lambda) - G_1(\nu; \lambda)) , \quad \lambda \neq 0 \tag{6}$$

The properties of $\Delta_*(\lambda)$

Having in mind the last relation (5) we define for any $\lambda \neq 0$ the function $\gamma(\lambda)$,

$$\gamma(\lambda) = \lambda \nu = \frac{\lambda e^\lambda}{e^\lambda - 1} - 1 \tag{7}$$

Proposition 2. The polarization index $\Delta_*(\lambda)$ has the form

$$\Delta(f) = \Delta_*(\lambda) = 4 \frac{(e^\lambda - 1)e^{\gamma(\lambda)} - \lambda e^\lambda}{\lambda(e^\lambda - 1)^2} \tag{8}$$

Proof. A straightforward calculus gives

$$\begin{aligned}
\Delta(f) &= 4[\nu G(\nu; \lambda) - G_1(\nu; \lambda)] = \\
&= 4 \left[\left(\frac{e^\lambda}{e^\lambda - 1} - \frac{1}{\lambda} \right) \frac{e^{\lambda \nu}}{e^\lambda - 1} - \frac{\nu e^{\lambda \nu}}{e^\lambda - 1} + \frac{e^{\lambda \nu} - 1}{\lambda(e^\lambda - 1)} \right] =
\end{aligned}$$

$$\begin{aligned}
&= 4 \left[\frac{e^\lambda}{e^\lambda - 1} \frac{e^{\gamma(\lambda)} - 1}{e^\lambda - 1} - \left(\frac{e^\lambda}{e^\lambda - 1} - \frac{1}{\lambda} \right) \frac{e^{\gamma(\lambda)}}{e^\lambda - 1} \right] = \\
&= 4 \left[\frac{e^{\gamma(\lambda)}}{\lambda(e^\lambda - 1)} - \frac{e^\lambda}{(e^\lambda - 1)^2} \right] = \\
&= 4 \frac{(e^\lambda - 1)e^{\gamma(\lambda)} - \lambda e^\lambda}{\lambda(e^\lambda - 1)^2} = \Delta_*(\lambda)
\end{aligned}$$

Proposition 3. $\gamma(-\lambda) = \gamma(\lambda) - \lambda$, $\forall \lambda \in \mathbf{R}$, $\lambda \neq 0$. (9)

$$\text{Proof. } \gamma(-\lambda) + \lambda = -\frac{\lambda e^{-\lambda}}{e^{-\lambda} - 1} - 1 + \lambda = \frac{\lambda}{e^\lambda - 1} - 1 + \lambda = \frac{\lambda e^\lambda}{e^\lambda - 1} - 1 = \gamma(\lambda)$$

Proposition 4 (the symmetry property). We have

$$\Delta_*(-\lambda) = \Delta_*(\lambda) , \forall \lambda \in \mathbf{R} , \lambda \neq 0 \span style="float: right;">(10)$$

Proof. Applying the formulas (8) and (9) we get

$$\begin{aligned}
\Delta_*(-\lambda) &= -4 \frac{(e^{-\lambda} - 1)e^{\gamma(-\lambda)} + \lambda e^{-\lambda}}{\lambda(e^{-\lambda} - 1)^2} = -4 \frac{(e^{-\lambda} - 1)e^{\gamma(\lambda) - \lambda} + \lambda e^{-\lambda}}{\lambda(e^{-\lambda} - 1)^2} = \\
&= -\frac{4e^\lambda \left[(1 - e^\lambda)e^{\gamma(\lambda) - \lambda} + \lambda \right]}{\lambda(1 - e^\lambda)^2} = 4 \frac{(e^\lambda - 1)e^{\gamma(\lambda)} - \lambda e^\lambda}{\lambda(e^\lambda - 1)^2} = \Delta_*(\lambda)
\end{aligned}$$

Remark 1. Taking into consideration the symmetry property of the index $\Delta_*(\lambda)$, in the following we'll study the behavior of the function $\Delta_*(\lambda)$ only for $\lambda > 0$.

Proposition 5. For any $\lambda > 0$ we have

$$\gamma(\lambda) < \lambda \span style="float: right;">(11)$$

Proof. It is sufficient to show that the function $h(\lambda) = \lambda - \gamma(\lambda)$ is strictly positive when $\lambda > 0$. Since $h(\lambda) = \lambda - \gamma(\lambda) = \lambda - \frac{\lambda e^\lambda}{e^\lambda - 1} + 1 = \frac{e^\lambda - \lambda - 1}{e^\lambda - 1}$ and $e^\lambda - 1 > 0$ it remains to prove the inequality $h_1(\lambda) = e^\lambda - \lambda - 1 > 0$ for any $\lambda > 0$.

Indeed, the function $h_1(\lambda)$ is strictly increasing on the interval $(0, \infty)$ because its derivative $h_1^{(1)}(\lambda) = e^\lambda - 1$ is strictly positive when $\lambda > 0$. So $h_1(\lambda) > h_1(0) = 0$ for any $\lambda > 0$.

Proposition 6. The behavior of the index $\Delta^*(\lambda)$ for large values of λ is given by

$$\lim_{\lambda \rightarrow \infty} \Delta^*(\lambda) = 0 \quad (12)$$

Proof. Using the inequality (11) we obtain

$$0 \leq \lim_{\lambda \rightarrow \infty} \frac{e^{\gamma(\lambda)}}{\lambda(e^\lambda - 1)} \leq \lim_{\lambda \rightarrow \infty} \frac{e^\lambda}{\lambda(e^\lambda - 1)} = \left(\lim_{\lambda \rightarrow \infty} \frac{1}{\lambda} \right) \left(\lim_{\lambda \rightarrow \infty} \frac{e^\lambda}{e^\lambda - 1} \right) = \lim_{\lambda \rightarrow \infty} \frac{1}{\lambda} = 0$$

Therefore

$$\begin{aligned} \lim_{\lambda \rightarrow \infty} \Delta^*(\lambda) &= \lim_{\lambda \rightarrow \infty} 4 \frac{(e^\lambda - 1)e^{\gamma(\lambda)} - \lambda e^\lambda}{\lambda(e^\lambda - 1)^2} = \\ &= 4 \lim_{\lambda \rightarrow \infty} \frac{e^{\gamma(\lambda)}}{\lambda(e^\lambda - 1)} - 4 \lim_{\lambda \rightarrow \infty} \frac{e^\lambda}{\lambda(e^\lambda - 1)^2} = 0 \end{aligned}$$

Proposition 7. For any $\lambda > 0$ the function $\gamma(\lambda)$ satisfies the inequality $\max\{\lambda/2; \lambda - 1\} < \gamma(\lambda)$ (13)

Proof. To prove the inequality $\gamma(\lambda) = \frac{\lambda e^\lambda}{e^\lambda - 1} - 1 > \frac{\lambda}{2}$ it is sufficient to

show that the function $h(\lambda) = \lambda e^\lambda - 2e^\lambda + \lambda + 2$ is strictly positive on the whole interval $(0, \infty)$.

Indeed $h^{(1)}(\lambda) = \lambda e^\lambda - e^\lambda + 1 > 0$ for any $\lambda > 0$ because $h^{(2)}(\lambda) = \lambda e^\lambda > 0$ when $\lambda > 0$ and therefore $h^{(1)}(\lambda) > h^{(1)}(0) = 0$. Since the function $h(\lambda)$ is a strict increasing one it results that $h(\lambda) > h(0) = 0$ for $\lambda > 0$. More, we have also the inequality $\gamma(\lambda) > \lambda - 1$ with $\lambda > 0$ since this relation is

equivalent with $\frac{\lambda e^\lambda}{e^\lambda - 1} > \lambda$. But the last inequality is true for any $\lambda > 0$.

Proposition 8. The function $\gamma(\lambda)$ increases strictly on the domain $(0, \infty)$ and in addition $\gamma(0) = 0$, $\gamma(\infty) = \infty$.

Proof. We'll show that the first derivative $\gamma^{(1)}(\lambda)$ of the function $\gamma(\lambda)$ is strictly positive when $\lambda > 0$.

So, the inequality $h(\lambda) = e^\lambda - \lambda - 1 > h(0) = 0$ is true for an arbitrary $\lambda > 0$ since the function $h(\lambda)$ is strictly increasing ($h^{(1)}(\lambda) = e^\lambda - 1 > 0$ if $\lambda > 0$). Therefore

$$\gamma^{(1)}(\lambda) = \frac{e^\lambda(e^\lambda - \lambda - 1)}{(e^\lambda - 1)^2} = \frac{e^\lambda h(\lambda)}{(e^\lambda - 1)^2} > 0$$

More, using the inequalities (11) and (13) we deduce

$$0 \leq \lim_{\lambda \downarrow 0} \gamma(\lambda) \leq \lim_{\lambda \downarrow 0} \lambda = 0$$

$$\lim_{\lambda \rightarrow \infty} \gamma(\lambda) \geq \lim_{\lambda \rightarrow 0} \frac{\lambda}{2} = \infty$$

Proposition 9. We have the following limit

$$\lim_{\lambda \downarrow 0} \frac{\gamma(\lambda) \gamma^{(1)}(\lambda)}{\lambda} = \frac{1}{4} \quad (14)$$

Proof. Making the transform $t = e^\lambda$ and applying l'Hospital rule we obtain successively

$$\begin{aligned} \lim_{\lambda \downarrow 0} \frac{\gamma(\lambda) \gamma^{(1)}(\lambda)}{\lambda} &= \lim_{t \downarrow 1} \frac{(t \ln(t) - t + 1)t(t - 1 - \ln(t))}{(t - 1)^3 \ln(t)} = \\ &= \left(\lim_{t \downarrow 1} \frac{t \ln(t) - t + 1}{(t - 1) \ln(t)} \right) \left(\lim_{t \downarrow 1} \frac{t - 1 - \ln(t)}{(t - 1)^2} \right) = \\ &= \left(\lim_{t \downarrow 1} \frac{\ln(t)}{\ln(t) + 1 - \frac{1}{t}} \right) \left(\lim_{t \downarrow 1} \frac{1 - \frac{1}{t}}{2(t - 1)} \right) = \frac{1}{2} \left(\lim_{t \downarrow 1} \frac{\frac{1}{t}}{\frac{1}{t} + \frac{1}{t^2}} \right) = \frac{1}{4} \end{aligned}$$

Proposition 10. The following expression could also be used to compute the polarization index $\Delta_*(\lambda)$,

$$\Delta_*(\lambda) = 4 \frac{(e^{\gamma(\lambda)} - \gamma(\lambda) - 1)(\gamma(\lambda) - \lambda + 1)}{\lambda^2} \quad (15)$$

Proof. Since $e^\lambda = \frac{\gamma(\lambda)+1}{\gamma(\lambda)-\lambda+1}$ we get $e^\lambda - 1 = \frac{\lambda}{\gamma(\lambda)-\lambda+1}$ and hence

$$\Delta_*(\lambda) = 4 \frac{(e^\lambda - 1)e^{\gamma(\lambda)} - \lambda e^\lambda}{\lambda(e^\lambda - 1)^2} = 4 \frac{(e^{\gamma(\lambda)} - \gamma(\lambda) - 1)(\gamma(\lambda) - \lambda + 1)}{\lambda^2}$$

Proposition 11. The behavior of the polarization coefficient $\Delta_*(\lambda)$ for very small positive λ values is given by

$$\lim_{\lambda \downarrow 0} \Delta_*(\lambda) = \frac{1}{2} \quad (16)$$

Proof. Using the results of Propositions 8-10 and applying l'Hospital rule we deduce

$$\begin{aligned} \lim_{\lambda \downarrow 0} \Delta_*(\lambda) &= 4 \left(\lim_{\lambda \downarrow 0} \frac{e^{\gamma(\lambda)} - \gamma(\lambda) - 1}{\lambda^2} \right) \left(\lim_{\lambda \downarrow 0} (\gamma(\lambda) - \lambda + 1) \right) = \\ &= 4 \left(\lim_{\lambda \downarrow 0} \frac{e^{\gamma(\lambda)} - \gamma(\lambda) - 1}{\lambda^2} \right) = 4 \left(\lim_{\lambda \downarrow 0} \frac{(e^{\gamma(\lambda)} - 1)\gamma^{(1)}(\lambda)}{2\lambda} \right) = \\ &= 2 \left(\lim_{\lambda \downarrow 0} \frac{e^{\gamma(\lambda)} - 1}{\gamma(\lambda)} \right) \left(\lim_{\lambda \downarrow 0} \frac{\gamma(\lambda)\gamma^{(1)}(\lambda)}{\lambda} \right) = 2 \left(\lim_{\gamma \downarrow 0} \frac{e^\gamma - 1}{\gamma} \right) \left(\frac{1}{4} \right) = \frac{1}{2} \end{aligned}$$

Proposition 12. The polarization index $\Delta_*(\lambda)$ could be computed by the formula

$$\Delta_*(\lambda) = 4 \frac{e^{\gamma(\lambda)} - \gamma(\lambda) - 1}{\lambda(e^\lambda - 1)} \quad (17)$$

Proof. Indeed, using the equality $\lambda e^\lambda = (\gamma(\lambda) + 1)(e^\lambda - 1)$ in the expression (8) we get

$$\Delta_*(\lambda) = 4 \frac{(e^\lambda - 1)e^{\gamma(\lambda)} - \lambda e^\lambda}{\lambda(e^\lambda - 1)^2} = 4 \frac{e^{\gamma(\lambda)} - \gamma(\lambda) - 1}{\lambda(e^\lambda - 1)}$$

In the subsequent we'll propose a variation interval $[\Delta_1(\lambda), \Delta_2(\lambda)]$ for $\Delta_*(\lambda)$ values. So

Proposition 13. The polarization index $\Delta_*(\lambda)$ is raised by the decreasing function $\Delta_2(\lambda)$,

$$\Delta_*(\lambda) < \Delta_2(\lambda) = 4 \frac{e^\lambda - \lambda - 1}{\lambda(e^\lambda - 1)} , \quad \lambda > 0 \quad (18)$$

where

$$\lim_{\lambda \downarrow 0} \Delta_2(\lambda) = 2 \quad \lim_{\lambda \rightarrow \infty} \Delta_2(\lambda) = 0 \quad (19)$$

Proof. The function $h_0(\lambda) = e^\lambda - \lambda - 1$ increases strictly when $\lambda > 0$ ($h_0^{(1)}(\lambda) = e^\lambda - 1 > 0$, $\forall \lambda > 0$). Using formulas (11) and (17) we obtain

$$\Delta_*(\lambda) = 4 \frac{e^{\gamma(\lambda)} - \gamma(\lambda) - 1}{\lambda(e^\lambda - 1)} < 4 \frac{e^\lambda - \lambda - 1}{\lambda(e^\lambda - 1)} = \Delta_2(\lambda)$$

More, applying successively l'Hospital rule it results

$$\begin{aligned} \lim_{\lambda \downarrow 0} \Delta_2(\lambda) &= 4 \lim_{\lambda \downarrow 0} \frac{e^\lambda - \lambda - 1}{\lambda(e^\lambda - 1)} = 4 \lim_{\lambda \downarrow 0} \frac{e^\lambda - 1}{\lambda e^\lambda + e^\lambda - 1} = \\ &= 4 \lim_{\lambda \downarrow 0} \frac{e^\lambda}{\lambda e^\lambda + 2e^\lambda} = \frac{4}{2} = 2 \end{aligned}$$

$$\begin{aligned} \lim_{\lambda \rightarrow \infty} \Delta_2(\lambda) &= 4 \lim_{\lambda \rightarrow \infty} \frac{e^\lambda - \lambda - 1}{\lambda(e^\lambda - 1)} = 4 \lim_{\lambda \rightarrow \infty} \frac{e^\lambda - 1}{\lambda e^\lambda + e^\lambda - 1} = \\ &= 4 \lim_{\lambda \rightarrow \infty} \frac{e^\lambda}{\lambda e^\lambda + 2e^\lambda} = 4 \lim_{\lambda \rightarrow \infty} \frac{1}{\lambda + 2} = 0 \end{aligned}$$

We'll show that the expression $\Delta_2(\lambda)$ is a decreasing function by proving that its derivative $\Delta_2^{(1)}(\lambda)$ takes only strict negative values when $\lambda > 0$. So

$$\Delta_2^{(1)}(\lambda) = 4 \frac{h_1(\lambda)}{\lambda^2(e^\lambda - 1)^2}$$

where

$$h_1(\lambda) = (e^\lambda - 1)(\lambda e^\lambda - \lambda) - (e^\lambda - \lambda - 1)(\lambda e^\lambda + e^\lambda - 1) = \lambda^2 e^\lambda - (e^\lambda - 1)^2$$

We have

$$h_1^{(1)}(\lambda) = e^\lambda (\lambda^2 + 2\lambda + 2 - 2e^\lambda) = e^\lambda h_2(\lambda)$$

The function $h_2(\lambda)$ decreases for any $\lambda > 0$ because

$$h_2^{(1)}(\lambda) = 2\lambda + 2 - 2e^\lambda < 0$$

$$(h_2^{(2)}(\lambda) = 2 - 2e^\lambda < 0 , \forall \lambda > 0 \text{ and } h_2^{(1)}(0) = 0).$$

Therefore for an arbitrary $\lambda > 0$ we have $h_1^{(1)}(\lambda) < 0$ and $h_1(0) = 0$.

Concluding $h_1(\lambda) < 0$, $\forall \lambda > 0$, that is $\Delta_2^{(1)} < 0$ for any $\lambda > 0$ and hence the function $\Delta_2(\lambda)$ decreases when $\lambda > 0$.

Proposition 14. The polarization index $\Delta^*(\lambda)$ is diminished by the decreasing function $\Delta_1(\lambda)$, that is

$$\Delta^*(\lambda) > \Delta_1(\lambda) = 4 \frac{e^{\lambda/2} - \lambda/2 - 1}{\lambda(e^\lambda - 1)} , \quad \lambda > 0 \quad (20)$$

where

$$\lim_{\lambda \downarrow 0} \Delta_1(\lambda) = \frac{1}{2} \quad \lim_{\lambda \rightarrow \infty} \Delta_1(\lambda) = 0 \quad (21)$$

Proof. Since the function $h_0(\lambda) = e^\lambda - \lambda - 1$ increases strictly on the domain $(0, \infty)$, taking into consideration the formula (13) and (17) we deduce

$$\Delta^*(\lambda) = 4 \frac{e^{\gamma(\lambda)} - \gamma(\lambda) - 1}{\lambda(e^\lambda - 1)} > 4 \frac{e^{\lambda/2} - \lambda/2 - 1}{\lambda(e^\lambda - 1)} = \Delta_1(\lambda)$$

But

$$\Delta_1(\lambda) = 4 \frac{e^{\lambda/2} - \lambda/2 - 1}{\lambda(e^\lambda - 1)} = 4 \frac{e^{\lambda/2} - \lambda/2 - 1}{(\lambda/2)(e^{\lambda/2} - 1)} \frac{1}{2(e^{\lambda/2} + 1)} = \Delta_2(\lambda/2)h_1(\lambda)$$

where the functions $\Delta_2(\lambda)$ and $h_1(\lambda) = \frac{1}{2(e^{\lambda/2} + 1)}$, $\lambda > 0$, are decreasing and positive.

Concluding, the function $\Delta_1(\lambda)$ decreases.

In addition, applying more times l'Hospital rule we obtain

$$\begin{aligned} \lim_{\lambda \downarrow 0} \Delta_1(\lambda) &= 4 \lim_{\lambda \downarrow 0} \frac{e^{\lambda/2} - \lambda/2 - 1}{\lambda(e^\lambda - 1)} = 2 \lim_{\lambda \downarrow 0} \frac{e^{\lambda/2} - 1}{\lambda e^\lambda + e^\lambda - 1} = \lim_{\lambda \downarrow 0} \frac{e^{\lambda/2}}{\lambda e^\lambda + 2e^\lambda} = \frac{1}{2} \\ \lim_{\lambda \rightarrow \infty} \Delta_1(\lambda) &= 4 \lim_{\lambda \rightarrow \infty} \frac{e^{\lambda/2} - \lambda/2 - 1}{\lambda(e^\lambda - 1)} = 2 \lim_{\lambda \rightarrow \infty} \frac{e^{\lambda/2} - 1}{\lambda e^\lambda + e^\lambda - 1} = \\ &= \lim_{\lambda \rightarrow \infty} \frac{e^{\lambda/2}}{\lambda e^\lambda + 2e^\lambda} = \lim_{\lambda \rightarrow \infty} \frac{1}{(\lambda + 2)e^{\lambda/2}} = 0 \end{aligned}$$

Remark 2. As a particular case of the $\text{Exp}(\theta, a, b)$ distribution is obtained when $\theta \rightarrow 0$, that is $\lambda \rightarrow 0$. In this situation we'll work with an uniform $\text{U}([a, b])$ distribution which have the p.d.f. $g(x; a, b) = \frac{1}{b-a}$, $a \leq x \leq b$. More exactly

Proposition 15. If $X_\theta \sim \text{Exp}(\theta, a, b)$ and $Y = \lim_{\theta \downarrow 0} X_\theta$ then $Y \sim \text{U}([a, b])$

Proof. We'll show that the limit of the p.d.f. $f(x; \theta, a, b)$ when $\theta \rightarrow 0$ is just the p.d.f. $g(x; a, b) = \frac{1}{b-a}$ which characterizes the uniform $\text{U}([a, b])$ distribution. Indeed, for an arbitrary $a \leq x \leq b$, applying the l'Hospital rule we get

$$\begin{aligned} \lim_{\theta \downarrow 0} f(x; \theta, a, b) &= \lim_{\theta \downarrow 0} \frac{e^{\theta x}}{e^{\theta b} - e^{\theta a}} = \left(\lim_{\theta \downarrow 0} \frac{\theta(b-a)}{e^{\theta(b-a)} - 1} \right) \left(\lim_{\theta \downarrow 0} \frac{e^{\theta x}}{b-a} \right) = \\ &= \left(\lim_{\theta \downarrow 0} \frac{b-a}{(b-a)e^{\theta(b-a)}} \right) \left(\frac{1}{b-a} \right) = \frac{1}{b-a} = g(x; a, b) \end{aligned}$$

According with Proposition 11 we have

Proposition 16. $\Delta(g) = \frac{1}{2}$ (22)

Proof. Applying the formula (3) for the p.d.f. $g(x; a, b) = \frac{1}{b-a}$,

$a \leq x \leq b$, we deduce

$$\mu = \frac{a+b}{2} \quad p = \frac{1}{2} \quad \mu_1 = \frac{3a+b}{4} \quad \mu_2 = \frac{a+3b}{4}$$

and therefore the formulae (2) gives

$$\Delta(g) = \frac{4p(1-p)(\mu_2 - \mu_1)}{b-a} = \frac{4(1/2)(1/2)}{b-a} \left(\frac{a+3b}{4} - \frac{3a+b}{4} \right) = \frac{1}{2}$$

Conclusions

The present work emphasizes some properties for the polarization index $\Delta_*(\lambda)$, $\lambda = \theta(b-a)$, associated to a bounded exponential distribution $\text{Exp}(\theta, a, b)$. We mention here the symmetry property (Proposition 4) or the behavior of $\Delta_*(\lambda)$ for very small and also for very large positive values of λ (Propositions 6,

11). There are also proposed more formula to compute the index $\Delta_*(\lambda)$ (compare the expressions (6), (8), (15), (17)).

Finally we suggested two decreasing functions $\Delta_1(\lambda)$ and $\Delta_2(\lambda)$ which are variation bounds of the polarization coefficient $\Delta_*(\lambda)$, that is $\Delta_1(\lambda) < \Delta_*(\lambda) < \Delta_2(\lambda)$ (Propositions 13, 14).

Some of these results can be easily extended for an uniform $U([a, b])$ distribution which is regarded as a limit, when $\theta \rightarrow 0$, of the $Exp(\theta, a, b)$ distribution (see Propositions 15, 16).

R E F E R E N C E S

1. C. D'Ambrosio, Household characteristics and the distribution of income in Italy - An application of social distance measures. *The Review of Income and Wealth*, **47**, 1(2001), 43-64.
2. F. Bourguignon, Decomposable income inequality measures. *Econometrica*, **47**, (1979), 901-920.
3. F.A. Cowell, On the structure of additive inequality measures. *Review of Economic Studies*, **47**, (1980), 521-531.
4. F.A. Cowell, S.P. Jenkins, How much inequality can we explain ? A methodology and an application to the United States. *The Economic Journal*, **105**(1995), 421-430.
5. Joan Esteban, Debraj Ray, On the measurement of polarization. *Econometrica*, **62** , 4(1994), 819-852.
6. J. Foster, A.K. Sen, On economic inequality. Clarendon Press, Oxford, 1997.
7. J. Gastwirth, The estimation of a family of measures of economic inequality. *Journal of Econometrics*, 3(1975), 61-70.
8. Carlos Gradin, Polarization by sub-populations in Spain, 1973-1991. *Review of Income and Wealth*, **46**, 4(December 2000), 457-474.
9. N.C. Kakwani, Statistical inference in the measurement of poverty. *Review of Economics and Statistics*, **75**, 3(1993), 632-639.
10. Athanasios Papoulis, Probability and statistics. Prentice Hall, New Jersey, 1990.
11. G. Pyatt, On the interpretation and disaggregation of Gini coefficient. *The Economic Journal*, **86**(1976), 243-255.
12. A.F. Shorrocks, The class additively decomposable inequality measures. *Econometrica*, **48**(1980), 613-625.
13. A.F. Shorrocks, Inequality decomposition by population subgroups. *Econometrica*, **52**(1984), 1369-1385.
14. Poliana Stefanescu, Stefan Stefanescu, On a polarization index.(submitted for publication, 2006).
15. Poliana Stefanescu, Stefan Stefanescu, The polarization index for bounded exponential distributions. *Economic Computation and Economic Cybernetics Studies and Research*, vol. XXXIX, no. 3-4 (2006), 8 p.
16. M. Wolfson, When inequalities diverge. *American Economic Review*, **84**, 2(1994), 353-358.
17. M. Wolfson, Divergent inequalities - Theory and empirical results. *The Review of Income and Wealth*, **43**, 4(1997), 401-422.

18. *S. Yitzhaki*, Economic distance and overlapping of distributions. *Journal of Econometrics*, **61**(1994), 147-159.
19. *X. Zhang, R. Kanbur*, What difference do polarization measures make ? - An application to China. *Journal of Development Studies*, **37**(2001), 85-98.